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8.4 Exercises

1. Evaluate exactly and estimate without a calculator at 4: v/10z2.
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2. Simplify 31/48x%y826.
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3. Evaluate 82/3, v o
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4. Simplify | 2 vl

595{ Kuywm\ Simpl FF& 3

3 43 (2 ® 23 4123 =
@(@ =0 =0 =8| =X ¢ :\(ZZ s
W= (22 vz s Z2
(Y=¢ =C Y TN e

(Dz()mg_zf5 D=0 - 3445
® 45=9 =55 ¢+ D2p.[F¢ 3475

"""""""""""""""""""""""""" =525 -3345 = 1045- ﬁ«JE

6. Multiply and simplify (7v/3 + 2v/5)(2v/3 — 3V/5).
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7. Multiply and simplify (v/3 4+ 4v/5)(v/3 — 4v/5).
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8. Divide and simplify
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9. Simplify and write your answer using radical notation (assume x and y
are positive):
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